THE NUMBER OF BOUND STATES OF A ONE-PARTICLE HAMILTONIAN ON A THREE-DIMENSIONAL LATTICE

S. N. Lakaev^{*} and I. N. Bozorov[†]

We consider the Hamiltonian $\hat{h}_{\mu\lambda}$, $\mu, \lambda \geq 0$, describing the motion of one quantum particle on a threedimensional lattice in an external field. We investigate the number of eigenvalues and their arrangement depending on the value of the interaction energy for $\mu \geq 0$ and $\lambda \geq 0$.

Keywords: one-particle Hamiltonian, continuous spectrum, virtual level, eigenvalue, Birman—Schwinger operator, Fredholm determinant

1. Introduction

The importance of threshold virtual levels for Hamiltonians of two-particle systems and their role in determining the number of bound states for Hamiltonians of systems of three quantum particles moving in the Euclidean space was first indicated by Efimov in [1], [2]. In [3], [4], the notion of virtual levels was introduced mathematically rigorously and was used to prove that the number of three-particle bound states is infinite (the Efimov effect).

In [5], the role of virtual levels was studied for three-particle Hamiltonians restricted to certain subspaces satisfying symmetry conditions. In particular, it was proved that the number of bound states for Hamiltonians of systems of three identical particles (fermions) is finite. In [6], [7], virtual levels of discrete two-particle Schrödinger operators h(k), $k \in \mathbb{T}^3$, on the lattice \mathbb{Z}^3 in the case $k = 0 \in \mathbb{T}^3$ and their role in determining the number of three-particle bound states for discrete three-particle Schrödinger operators H(K), $K \in \mathbb{T}^3$, associated with Hamiltonians of systems of three arbitrary identical particles on the lattice \mathbb{Z}^3 were investigated.

In [8], [9], the spectral properties were studied for one-particle Hamiltonians h describing the motion of one quantum particle in a potential field \hat{v} and of two-particle discrete Schrödinger operators h(k), $k \in \mathbb{T}^{\nu}$, associated with Hamiltonians of systems of two arbitrary identical particles on a lattice that interact via short-range pair potentials. In [10], the existence of bound states for some values of the quasimomentum of two particles was investigated for a certain class of Gibbs-field transfer matrices. In [8], for a wide class of discrete two-particle Schrödinger operators $h(k), k \in \mathbb{T}^d$ ($d \geq 3$), it was found that if the two-particle operator h(0) has a virtual level or an eigenvalue on the threshold $z = \varepsilon_{\min}(0)$ of the essential spectrum, then the operator h(k) has an eigenvalue below the threshold of the essential spectrum for all $k \neq 0$.

Here, we consider the Hamiltonian $\hat{h}_{\mu\lambda}$, $\mu, \lambda \geq 0$, describing the motion of one quantum particle on a three-dimensional lattice in an external field. We completely investigate the dependence of the number of eigenvalues of this operator on the interaction energy for $\mu \geq 0$ and $\lambda \geq 0$. We show that all eigenvalues arise either from a threshold virtual level (resonance) or from threshold eigenvalues under a variation of

0040-5779/09/1583-0360 © 2009 Springer Science+Business Media, Inc.

^{*}Samarkand State University, Samarkand, Uzbekistan, e-mail: slakaev@mail.ru.

[†]Samarkand Division, Academy of Sciences of the Republic of Uzbekistan, Samarkand, Uzbekistan, e-mail: islomnb@mail.ru.

Translated from *Teoreticheskaya i Matematicheskaya Fizika*, Vol. 158, No. 3, pp. 425–443, March, 2009. Original article submitted April 15, 2008; revised June 23, 2008.

the interaction energy. We also describe the sets of parameter values $\mu, \lambda \geq 0$ for which the Hamiltonian $h_{\mu\lambda}$ has a virtual level, an eigenvalue, or both a virtual level and an eigenvalue. The set of values of the interaction energy is described (curves and a point) for which the threshold z = 0 is (a) a regular point of the continuous spectrum, (b) a virtual level or a two-fold eigenvalue, or (c) both a virtual level and an eigenvalue of $h_{\mu\lambda}$.

We exactly describe the interaction-energy range where the Hamiltonian $h_{\mu\lambda}$ either has no eigenvalues or has one, two, three, or four eigenvalues lying below the lower threshold. Moreover, we prove that the first negative eigenvalue of the Hamiltonian $h_{\mu\lambda}$ arises only from a threshold virtual level (resonance) under a variation of the interaction energy. This result for the continuous two-particle Schrödinger operator was revealed by Newton (see p. 1353 in [11]) and proved by Tamura (see Lemma 1.1 in [4]) using a result by Simon [12].

We note that the discrete two-particle Schrödinger operator h(0) is unitarily equivalent to the oneparticle Hamiltonian h and studying the spectral properties of one-particle operators therefore plays a special role in the spectral theory of many-particle operators on the lattice \mathbb{Z}^d , d = 1, 2, ...

2. Coordinate representation for the one-particle Hamiltonian

Let $\ell^2(\mathbb{Z}^3)$ be the Hilbert space of square summable functions on the three-dimensional integer lattice \mathbb{Z}^3 . In the coordinate representation, the free Hamiltonian of one quantum particle moving on the lattice \mathbb{Z}^3 is associated with a bounded self-adjoint operator acting in the space $\ell^2(\mathbb{Z}^3)$ according to the formula

$$(\hat{h}_0\widehat{\varphi})(x) = \sum_{s \in \mathbb{Z}^3} \hat{\varepsilon}(x-s)\widehat{\varphi}(s), \quad \widehat{\varphi} \in \ell^2(\mathbb{Z}^3),$$

where the function $\hat{\varepsilon}$ is defined on the lattice \mathbb{Z}^3 by the relations

$$\hat{\varepsilon}(s) = \begin{cases} 3 & \text{for } |s| = 0, \\ -1/2 & \text{for } |s| = 1, \\ 0 & \text{for } |s| > 1, \end{cases}$$

 $s = (s^{(1)}, s^{(2)}, s^{(3)}) \in \mathbb{Z}^3, |s| = |s^{(1)}| + |s^{(2)}| + |s^{(3)}|.$

In the coordinate representation, the (total) one-particle Hamiltonian in a potential field $\hat{v}_{\mu\lambda}$ is defined as a bounded perturbation of the free Hamiltonian \hat{h}_0 ,

$$\hat{h}_{\mu\lambda} = \hat{h}_0 - \hat{v}_{\mu\lambda}$$

where $\hat{v}_{\mu\lambda}$ is the operator of multiplication by a function $\hat{v}_{\mu\lambda}$ in $\ell^2(\mathbb{Z}^3)$, i.e.,

$$(\hat{v}_{\mu\lambda}\widehat{\varphi})(x) = \hat{v}_{\mu\lambda}(x)\widehat{\varphi}(x), \quad \widehat{\varphi} \in \ell^2(\mathbb{Z}^3).$$

The function $\hat{v}_{\mu\lambda}$ is defined on \mathbb{Z}^3 as

$$\hat{v}_{\mu\lambda}(s) = \begin{cases} \mu & \text{for } |s| = 0, \\\\ \lambda/2 & \text{for } |s| = 1, \\\\ 0 & \text{for } |s| > 1, \end{cases}$$

where the numbers $\mu \ge 0$ and $\lambda \ge 0$ are not simultaneously zero. The operator $\hat{h}_{\mu\lambda}$ is a bounded self-adjoint operator in the Hilbert space $\ell^2(\mathbb{Z}^3)$.

Let $\ell_{\rm e}^2(\mathbb{Z}^3) \subset \ell^2(\mathbb{Z}^3)$ be the subspace of even functions on \mathbb{Z}^3 . We note that the Hilbert space $\ell_{\rm e}^2(\mathbb{Z}^3)$ is invariant under the action of the operator $\hat{h}_{\mu\lambda}$. In what follows, the restriction $\hat{h}_{\mu\lambda}|_{\ell_{\rm e}^2(\mathbb{Z}^3)}$ of $\hat{h}_{\mu\lambda}$ to $\ell_{\rm e}^2(\mathbb{Z}^3)$ is also denoted by $\hat{h}_{\mu\lambda}$.

3. Momentum representation for the one-particle Hamiltonian

Let $\mathbb{T}^3 \equiv (-\pi; \pi]^3$ be a three-dimensional torus, i.e., a three-dimensional cube whose opposite faces are identified. We note that the operations of addition and multiplication by a real number for the elements of the set $\mathbb{T}^3 \subset \mathbb{R}^3$ are understood as operations modulo $(2\pi\mathbb{Z})^3$ in \mathbb{R}^3 .

Let $L^2(\mathbb{T}^3)$ be the Hilbert space of square integrable functions on \mathbb{T}^3 , let $L^2_e(\mathbb{T}^3) \subset L^2(\mathbb{T}^3)$ be the subspace of even functions, and let

$$\mathcal{F}: \ell^2(\mathbb{Z}^3) \to L^2(\mathbb{T}^3), \qquad (\mathcal{F}\hat{f})(p) = (2\pi)^{-3/2} \sum_{s \in \mathbb{Z}^3} \hat{f}(s) e^{i(p,s)},$$

be the standard Fourier transformation. We note that $\mathcal{F}(\ell_e^2(\mathbb{Z}^3)) \subset L_e^2(\mathbb{T}^3)$. We let \mathcal{F}_e denote the restriction of \mathcal{F} to $\ell_e^2(\mathbb{Z}^3)$. It can be easily verified that $\mathcal{F}_e(\ell_e^2(\mathbb{Z}^3)) = L_e^2(\mathbb{T}^3)$.

The Hamiltonian $h_{\mu\lambda} = \mathcal{F}_{e}\hat{h}_{\mu\lambda}\mathcal{F}_{e}^{-1}$ (see [8]) in the momentum representation is a bounded self-adjoint operator in the Hilbert space $L_{e}^{2}(\mathbb{T}^{3})$. It acts according to the formula

$$h_{\mu\lambda} = h_0 - v_{\mu\lambda},$$

where h_0 is the operator of multiplication by a function ε ,

$$(h_0 f)(p) = \varepsilon(p)f(p), \qquad \varepsilon(p) = \sum_{i=1}^3 (1 - \cos p^{(i)}), \quad f \in L^2_e(\mathbb{T}^3), \quad p = (p^{(1)}, p^{(2)}, p^{(3)}) \in \mathbb{T}^3,$$

and $v_{\mu\lambda}$ is a nonnegative integral operator of rank $r \leq 4$,

$$(v_{\mu\lambda}f)(p) = \frac{1}{(2\pi)^3} \int_{\mathbb{T}^3} \left(\mu + \lambda \sum_{i=1}^3 \cos p^{(i)} \cos t^{(i)}\right) f(t) \, dt, \quad f \in L^2_{\mathrm{e}}(\mathbb{T}^3).$$

4. Continuous spectrum and a virtual level

The perturbed operator $v_{\mu\lambda}$ is an integral operator of rank $r \leq 4$, and by the Weyl theorem (see [13]), the continuous spectrum $\sigma_{\text{cont}}(h_{\mu\lambda})$ of the operator $h_{\mu\lambda}$ is therefore independent of the parameters $\mu, \lambda \geq 0$ and coincides with the spectrum $\sigma(h_0)$ of h_0 . Hence, the equality

$$\sigma_{\rm cont}(h_{\mu\lambda}) = \sigma(h_0) = [0, 6]$$

holds.

We consider the orthonormalized system in the space $L^2_{e}(\mathbb{T}^3)$

$$\alpha_0 = \frac{1}{(2\pi)^{3/2}}, \qquad \alpha_i(p) = \frac{\sqrt{2}}{(2\pi)^{3/2}} \cos p^{(i)}, \quad i = 1, 2, 3.$$

The operator $v_{\mu\lambda}$ is representable in the form

$$v_{\mu\lambda}f = \mu\alpha_0(f,\alpha_0) + \frac{\lambda}{2}\sum_{i=1}^3 (f,\alpha_i)\alpha_i,$$

where (\cdot, \cdot) is the inner product in $L^2_{e}(\mathbb{T}^3)$.

It follows from the nonnegativity of the operator $v_{\mu\lambda} \ge 0$ that the square root $v_{\mu\lambda}^{1/2} \ge 0$ exists. The operator $v_{\mu\lambda}^{1/2}$ acts in $L^2_{\rm e}(\mathbb{T}^3)$ according to the formula

$$(v_{\mu\lambda}^{1/2}f)(p) = \frac{1}{(2\pi)^{3/2}} \int_{\mathbb{T}^3} v_{\mu\lambda}^{1/2}(p-q)f(q) \, dq,$$

where

$$v_{\mu\lambda}^{1/2}(p) = \frac{1}{(2\pi)^{3/2}} \sum_{s \in \mathbb{Z}^3} \hat{v}_{\mu\lambda}^{1/2}(s) e^{i(p,s)}.$$

Here, $\hat{v}_{\mu\lambda}^{1/2}$ is the square root of the positive function $\hat{v}_{\mu\lambda}$. Let \mathbb{C} be the complex plane, and let $r_0(z), z \in \mathbb{C} \setminus [0, 6]$, be the resolvent of h_0 . Because the function $\varepsilon(q) = \varepsilon(q^{(1)}, q^{(2)}, q^{(3)}) = \sum_{i=1}^{3} (1 - \cos q^{(i)})$ is symmetric under permutations of $q^{(i)}$ and $q^{(j)}$, i, j = 1, 2, 3, the integrals

$$\int_{\mathbb{T}^3} \frac{\cos q^{(i)} \, dq}{\varepsilon(q) - z}, \qquad \int_{\mathbb{T}^3} \frac{\cos^2 q^{(i)} \, dq}{\varepsilon(q) - z}, \qquad \int_{\mathbb{T}^3} \frac{\cos q^{(i)} \cos q^{(j)} \, dq}{\varepsilon(q) - z}$$

are independent of $i, j = 1, 2, 3, i \neq j$. We set

$$a(z) = (\alpha_0, r_0(z)\alpha_0) = \frac{1}{(2\pi)^3} \int_{\mathbb{T}^3} \frac{dq}{\varepsilon(q) - z},$$

$$b(z) = (\alpha_0, r_0(z)\alpha_i) = \frac{\sqrt{2}}{(2\pi)^3} \int_{\mathbb{T}^3} \frac{\cos q^{(i)} \, dq}{\varepsilon(q) - z},$$

$$c(z) = (\alpha_i, r_0(z)\alpha_i) = \frac{2}{(2\pi)^3} \int_{\mathbb{T}^3} \frac{\cos^2 q^{(i)} \, dq}{\varepsilon(q) - z},$$

$$d(z) = (\alpha_i, r_0(z)\alpha_j) = \frac{2}{(2\pi)^3} \int_{\mathbb{T}^3} \frac{\cos q^{(i)} \cos q^{(j)} \, dq}{\varepsilon(q) - z},$$

(4.1)

where $i, j = 1, 2, 3, i \neq j$, and z < 0.

For any fixed $\mu, \lambda \geq 0$ and $z \in \mathbb{C} \setminus [0, 6]$, we define a finite-dimensional (rank $r \leq 4$) Birman—Schwinger integral operator $G_{\mu\lambda}(z)$ acting in the space $L^2_{\rm e}(\mathbb{T}^3)$ according to the formula $G_{\mu\lambda}(z) = v^{1/2}_{\mu\lambda}r_0(z)v^{1/2}_{\mu\lambda}$. We represent $G_{\mu\lambda}(z)$ in the form

$$G_{\mu\lambda}(z)f = \left(\mu a(z)(f,\alpha_0) + \sqrt{\frac{\mu\lambda}{2}} b(z) \sum_{i=1}^3 (f,\alpha_i) \right) \alpha_0 + \sum_{i=1}^3 \left[\sqrt{\frac{\mu\lambda}{2}} b(z)(f,\alpha_0) + \frac{\lambda}{2} c(z)(f,\alpha_i) + \frac{\lambda}{2} d(z) \sum_{i\neq j=1}^3 (f,\alpha_j) \right] \alpha_i.$$

$$(4.2)$$

Because the function ε has a nondegenerate minimum at q = 0 and $\varepsilon(0) = \min_{q \in \mathbb{T}^3} \varepsilon(q)$, we have the finite limits

$$\lim_{z \to 0-} a(z) = \frac{1}{(2\pi)^3} \int_{\mathbb{T}^3} \frac{dq}{\varepsilon(q)}, \qquad \lim_{z \to 0-} b(z) = \frac{\sqrt{2}}{(2\pi)^3} \int_{\mathbb{T}^3} \frac{\cos q^{(i)} \, dq}{\varepsilon(q)},$$
$$\lim_{z \to 0-} c(z) = \frac{2}{(2\pi)^3} \int_{\mathbb{T}^3} \frac{\cos^2 q^{(i)} \, dq}{\varepsilon(q)}, \qquad \lim_{z \to 0-} d(z) = \frac{2}{(2\pi)^3} \int_{\mathbb{T}^3} \frac{\cos q^{(i)} \cos q^{(j)} \, dq}{\varepsilon(q)}.$$

Therefore, although the resolvent $r_0(z)$ does not exist at z = 0, the bounded self-adjoint operator $G_{\mu\lambda}(0)$ is defined as

$$\begin{aligned} G_{\mu\lambda}(0)f = & \left(\mu a(0)(f,\alpha_0) + \sqrt{\frac{\mu\lambda}{2}} \, b(0) \sum_{i=1}^3 (f,\alpha_i)\right) \alpha_0 + \\ & + \sum_{i=1}^3 \left[\sqrt{\frac{\mu\lambda}{2}} \, b(0)(f,\alpha_0) + \frac{\lambda}{2} c(0)(f,\alpha_i) + \frac{\lambda}{2} d(0) \sum_{i\neq j=1}^3 (f,\alpha_j) \right] \alpha_i \end{aligned}$$

Remark 1. Clearly, the operator $h_{\mu\lambda}$ has an eigenvalue $z \leq 0$, i.e., $\operatorname{Ker}(h_{\mu\lambda} - zI) \neq 0$ if and only if the compact operator $G_{\mu\lambda}(z)$ in $L^2_{\mathrm{e}}(\mathbb{T}^3)$ has an eigenvalue equal to 1 and there is a function $\psi \in \operatorname{Ker}(G_{\mu\lambda}(z) - I)$ such that

$$f(\,\cdot\,) = \frac{(v_{\mu\lambda}^{1/2}\psi)(\,\cdot\,)}{\varepsilon(\,\cdot\,) - z} \in L^2_{\rm e}(\mathbb{T}^3)$$

In this case, $f \in \text{Ker}(h_{\mu\lambda} - zI)$. Moreover, if z < 0, then

$$\dim \operatorname{Ker}(h_{\mu\lambda} - zI) = \dim \operatorname{Ker}(G_{\mu\lambda}(z) - I),$$

$$\operatorname{Ker}(h_{\mu\lambda} - zI) = \left\{ f \colon f(\cdot) = \frac{(v_{\mu\lambda}^{1/2}\psi)(\cdot)}{\varepsilon(\cdot) - z}, \ \psi \in \operatorname{Ker}(G_{\mu\lambda}(z) - I) \right\}.$$

$$(4.3)$$

In the case of the threshold eigenvalue z = 0, relation (4.3) must be replaced with the inequality

$$\dim \operatorname{Ker}(h_{\mu\lambda}) \leq \dim \operatorname{Ker}(G_{\mu\lambda}(0) - I).$$

Definition 1. The threshold z = 0 of the continuous spectrum $\sigma_{\text{cont}}(h_{\mu\lambda})$ is called a singular point of the continuous spectrum (SPCS) of the operator $h_{\mu\lambda}$ if the number 1 is an eigenvalue of the operator $G_{\mu\lambda}(0)$. And if 1 is not an eigenvalue of $G_{\mu\lambda}(0)$, then z = 0 is called a regular point of the continuous spectrum (RPCS) of $h_{\mu\lambda}$.

Definition 2. The operator $h_{\mu\lambda}$ is said to have a virtual level (on the left threshold of the continuous spectrum) if the number 1 is a (simple or multiple) eigenvalue of the operator $G_{\mu\lambda}(0)$ and if at least one (up to a constant) of the corresponding eigenfunctions ψ satisfies the condition

$$\frac{v_{\mu\lambda}^{1/2}\psi}{\varepsilon} \in L^1_{\mathrm{e}}(\mathbb{T}^3) \setminus L^2_{\mathrm{e}}(\mathbb{T}^3).$$

This means that

$$1 \leq \dim \operatorname{Ker}(G_{\mu\lambda}(0) - I) \geq \dim \operatorname{Ker}(h_{\mu\lambda}) + 1.$$

Remark 2. Our definition of a virtual level is equivalent to the definition of a virtual level for the two-particle Schrödinger operator in the Euclidean space and on a lattice.

Remark 3. By definition, the virtual level z = 0 is an SPCS of the operator $h_{\mu\lambda}$. An SPCS can be an eigenvalue of $h_{\mu\lambda}$ (see assertions B1 and B3 in the theorem below). Moreover, it can simultaneously be a virtual level and an eigenvalue of $h_{\mu\lambda}$ (see assertion B2 in the theorem).

5. Statement of the main results

For any fixed values of the parameters $\mu, \lambda \ge 0$, the determinant of the operator $h_{\mu\lambda} - zI$ is understood as the Fredholm determinant of the operator $I - G_{\mu\lambda}(z)$,

$$\Delta(\mu, \lambda; z) := \det(h_{\mu\lambda} - zI) := \det(I - G_{\mu\lambda}(z)).$$
(5.1)

Clearly, $\Delta(\mu, \lambda; \cdot)$ is an analytic function in the domain $\mathbb{C} \setminus [0, 6]$ for all $\mu, \lambda \ge 0$.

Lemma 1. For all $\mu, \lambda \geq 0$ and $z \in \mathbb{C} \setminus [0, 6]$, the representations

$$\Delta(\mu,\lambda;z) = \Delta^{(1)}(\mu,\lambda;z) \left(\Delta^{(22)}(\lambda;z)\right)^2,\tag{5.2}$$

$$\Delta(\mu, 0; z) = 1 - \mu a(z), \qquad \Delta(0, \lambda; z) = \Delta^{(21)}(\lambda; z) \left(\Delta^{(22)}(\lambda; z)\right)^2$$
(5.3)

hold, where

$$\Delta^{(1)}(\mu,\lambda;z) = \Delta(\mu,0;z)\Delta^{(21)}(\lambda;z) - \frac{3\mu\lambda}{2}b^2(z),$$
(5.4)

$$\Delta^{(21)}(\lambda;z) = 1 - \frac{\lambda}{2} \big(c(z) + 2d(z) \big), \qquad \Delta^{(22)}(\lambda;z) = 1 - \frac{\lambda}{2} \big(c(z) - d(z) \big). \tag{5.5}$$

Let $\mu^0 = (a(0))^{-1}$, $\lambda_1^0 = (3\sqrt{2}b(0)/2)^{-1}$, and $\lambda_2^0 = 2(c(0) - d(0))^{-1}$. We note that $\lambda_2^0 > \lambda_1^0$ (see Corollary 1 below).

For every $\mu > \mu^0$ and $\lambda > \lambda_1^0$, the operators $h_{\mu 0}$ and $h_{0\lambda}$ have the respective negative eigenvalues $\zeta_1(\mu)$ and $\zeta_2(\lambda)$ (see Proposition 3 below). We set $\zeta_{\min}(\mu, \lambda) = \min\{\zeta_1(\mu), \zeta_2(\lambda)\}$ and $\zeta_{\max}(\mu, \lambda) = \max\{\zeta_1(\mu), \zeta_2(\lambda)\}$. Let (see Fig. 1)

$$\begin{split} G_0 &= \left\{ (\mu, \lambda) \in \mathbb{R}^2_+ \colon \Delta^{(1)}(\mu, \lambda) = 1 - \mu a(0) - \frac{\sqrt{2}}{2} \lambda(3 - \mu) b(0) > 0, \ 0 < \mu < \mu^0, \ 0 < \lambda < \lambda_1^0 \right\}, \\ G_{11}^{(0)} &= \{ (\mu, \lambda) \in \mathbb{R}^2_+ \colon \Delta^{(1)}(\mu, \lambda) = 0, \ 0 < \mu < \mu^0, \ 0 < \lambda < \lambda_1^0 \}, \\ G_1 &= \{ (\mu, \lambda) \in \mathbb{R}^2_+ \colon \Delta^{(1)}(\mu, \lambda) < 0 \}, \\ G_{12}^{(0)} &= \left\{ (\mu, \lambda) \in \mathbb{R}^2_+ \colon \Delta^{(1)}(\mu, \lambda) = 0, \ \mu > 3, \ \lambda > \frac{\sqrt{2}a(0)}{b(0)} \right\}, \\ G_2 &= \{ (\mu, \lambda) \in \mathbb{R}^2_+ \colon \Delta^{(1)}(\mu, \lambda) > 0, \ \mu > \mu^0, \ \lambda > \lambda_1^0 \}. \end{split}$$

The following theorem provides a complete presentation of the existence and the number of virtual levels or negative eigenvalues for all $\mu, \lambda \ge 0$.

Theorem. The following assertions hold:

- A1. Let $0 < \lambda \leq \lambda_1^0$ and $(\mu, \lambda) \in G_0$. Then the operator $h_{\mu\lambda}$ has no eigenvalues in the interval $(-\infty, 0)$, and the point z = 0 is an RPCS of the operator $h_{\mu\lambda}$.
- A2. Let $0 < \lambda \leq \lambda_1^0$ and $(\mu, \lambda) \in G_{11}^{(0)}$. Then z = 0 is a virtual level of $h_{\mu\lambda}$, and this operator has no eigenvalues in the interval $(-\infty, 0)$.





- A3. Let $0 < \lambda < \lambda_2^0$ and $(\mu, \lambda) \in G_1$. Then the operator $h_{\mu\lambda}$ has a single eigenvalue $z^{(1)}(\mu, \lambda) < 0$. In this case, the inequality $z^{(1)}(\mu, \lambda) < \zeta_{\min}(\mu, \lambda)$ holds, and z = 0 is an RPCS of $h_{\mu\lambda}$.
- B1. Let $\lambda_1^0 < \lambda < \lambda_2^0$ and $(\mu, \lambda) \in G_{12}^{(0)}$. Then z = 0 is a virtual level of $h_{\mu\lambda}$. Moreover, this operator has a single eigenvalue $z^{(1)}(\mu, \lambda) < 0$.
- B2. Let $\lambda_1^0 < \lambda < \lambda_2^0$ and $(\mu, \lambda) \in G_2$. Then the operator $h_{\mu\lambda}$ has two eigenvalues $z^{(1)}(\mu, \lambda) < 0$ and $z^{(4)}(\mu, \lambda) < 0$. In this case, the inequalities

$$z^{(1)}(\mu,\lambda) < \zeta_{\min}(\mu,\lambda) \le \zeta_{\max}(\mu,\lambda) < z^{(4)}(\mu,\lambda)$$

hold, and z = 0 is an RPCS of the operator $h_{\mu\lambda}$.

- C1. Let $\lambda = \lambda_2^0$ and $(\mu, \lambda) \in G_1$. Then the operator $h_{\mu\lambda}$ has a single eigenvalue $z^{(1)}(\mu, \lambda) < 0$, and zero is a two-fold eigenvalue of this operator.
- C2. Let $\lambda = \lambda_2^0$ and $(\mu, \lambda) \in G_{12}^{(0)}$. Then z = 0 is a virtual level and a two-fold eigenvalue of the operator $h_{\mu\lambda}$. Moreover, this operator has a single eigenvalue $z^{(1)}(\mu, \lambda) < 0$.
- C3. Let $\lambda = \lambda_2^0$ and $(\mu, \lambda) \in G_2$. Then z = 0 is a two-fold eigenvalue of $h_{\mu\lambda}$. Moreover, the operator $h_{\mu\lambda}$ has two eigenvalues $z^{(1)}(\mu, \lambda) < 0$ and $z^{(4)}(\mu, \lambda) < 0$. In this case, the inequalities

$$z^{(1)}(\mu,\lambda) < \zeta_{\min}(\mu,\lambda) \le \zeta_{\max}(\mu,\lambda) < z^{(4)}(\mu,\lambda)$$

hold.

D1. Let $\lambda > \lambda_2^0$ and $(\mu, \lambda) \in G_1$. Then the operator $h_{\mu\lambda}$ has three eigenvalues (counting multiplicities) $z^{(1)}(\mu, \lambda) < 0$ and $z^{(2)}(\lambda) = z^{(3)}(\lambda) < 0$. In this case, $z^{(1)}(\mu, \lambda) < z^{(2)}(\lambda) = z^{(3)}(\lambda)$, and z = 0 is an RPCS of $h_{\mu\lambda}$.

- D2. Let $\lambda > \lambda_2^0$ and $(\mu, \lambda) \in G_{12}^{(0)}$. Then z = 0 is a virtual level of the operator $h_{\mu\lambda}$. Moreover, the operator $h_{\mu\lambda}$ has three eigenvalues (counting multiplicities) $z^{(1)}(\mu, \lambda) < 0$ and $z^{(2)}(\lambda) = z^{(3)}(\lambda) < 0$. In this case, $z^{(1)}(\mu, \lambda) < z^{(2)}(\lambda) = z^{(3)}(\lambda)$.
- D3. Let $\lambda > \lambda_2^0$ and $(\mu, \lambda) \in G_2$. Then the operator $h_{\mu\lambda}$ has four eigenvalues (counting multiplicities) $z^{(1)}(\mu, \lambda) < 0, \ z^{(2)}(\lambda) = z^{(3)}(\lambda) < 0, \ \text{and} \ z^{(4)}(\mu, \lambda) < 0.$ In this case, $z^{(1)}(\mu, \lambda) < z^{(2)}(\lambda) = z^{(3)}(\lambda), \ z^{(1)}(\mu, \lambda) < z^{(4)}(\mu, \lambda), \ \text{and} \ z = 0$ is an RPCS of $h_{\mu\lambda}$.

Remark 4. It is said in assertion A2 in the theorem that the threshold z = 0 is a virtual level of $h_{\mu\lambda}$ for some $\mu, \lambda \ge 0$. It is said in assertion C1 that the threshold z = 0 is a two-fold eigenvalue. It is said in assertion C2 that z = 0 is simultaneously a virtual level and an eigenvalue.

Remark 5. Assertions A2 and A3 in the theorem mean that the first negative eigenvalue of $h_{\mu\lambda}$ is generated only by a threshold virtual level under a variation of $\mu, \lambda \geq 0$. It is said in assertions B1 and B2 that the second negative eigenvalue of $h_{\mu\lambda}$ is also generated by a threshold virtual level. Assertions C3 and D1 say that the negative eigenvalues of $h_{\mu\lambda}$ are generated by the multiple threshold eigenvalue z = 0under a variation of $\mu, \lambda \geq 0$. Assertions C2, D2, and D3 say that the negative eigenvalues of $h_{\mu\lambda}$ are generated by both a threshold virtual level and the threshold values and eigenvalues z = 0.

Remark 6. Moreover, it is said in the theorem that the range of the parameters $\mu, \lambda \ge 0$ where the threshold z = 0 is either a virtual level or an eigenvalue is some curve. The range of the parameters $\mu, \lambda \ge 0$ where the threshold z = 0 is a virtual level and an eigenvalue of the operator $h_{\mu\lambda}$ is a single point.

Remark 7. A similar theorem describes the dependence of the number of eigenvalues and their arrangement on the parameters μ and λ for all $\mu, \lambda \in \mathbb{R}$. In this case, the eigenvalues of $h_{\mu\lambda}$ are located both to the left and to the right of the continuous spectrum. In the case $\mu, \lambda \leq 0$, the eigenvalues of $h_{\mu\lambda}$ are only to the right of the continuous spectrum.

6. The proofs of the main results

The remainder of the paper is devoted to the proof of the theorem.

We let $L_4 \subset L^2_e(\mathbb{T}^3)$ denote the four-dimensional subspace spanned by the vectors 1 and $\cos p^{(i)}$, i = 1, 2, 3. We note that the operator $v_{\mu\lambda}$ maps the Hilbert space $L^2_e(\mathbb{T}^3)$ to the subspace L_4 .

Proof of Lemma 1. As follows from (4.2), the operator $G_{\mu\lambda}(z)$ maps the whole space $L^2_e(\mathbb{T}^3)$ to the subspace L_4 invariant under the action of $G_{\mu\lambda}(z)$. Therefore, the restriction $G_{\mu\lambda}(z)|_{L_4}$ of $G_{\mu\lambda}(z)$ to L_4 is represented in the matrix form

$$G_{\mu\lambda}(z)|_{L_4} = \begin{pmatrix} \mu a(z) & \frac{\lambda}{\sqrt{2}}b(z) & \frac{\lambda}{\sqrt{2}}b(z) & \frac{\lambda}{\sqrt{2}}b(z) \\ \frac{\mu}{\sqrt{2}}b(z) & \frac{\lambda}{2}c(z) & \frac{\lambda}{2}d(z) & \frac{\lambda}{2}d(z) \\ \frac{\mu}{\sqrt{2}}b(z) & \frac{\lambda}{2}d(z) & \frac{\lambda}{2}c(z) & \frac{\lambda}{2}d(z) \\ \frac{\mu}{\sqrt{2}}b(z) & \frac{\lambda}{2}d(z) & \frac{\lambda}{2}d(z) & \frac{\lambda}{2}c(z) \end{pmatrix}$$

It hence follows that the Fredholm determinant of the operator $(I - G_{\mu\lambda}(z))|_{L_4}$ has the form

$$\det\left(\left(I-G_{\mu\lambda}(z)\right)\Big|_{L_4}\right) = \Delta(\mu,\lambda;z) = \begin{vmatrix} 1-\mu a(z) & -\frac{\lambda}{\sqrt{2}}b(z) & -\frac{\lambda}{\sqrt{2}}b(z) & -\frac{\lambda}{\sqrt{2}}b(z) \\ -\frac{\mu}{\sqrt{2}}b(z) & 1-\frac{\lambda}{2}c(z) & -\frac{\lambda}{2}d(z) & -\frac{\lambda}{2}d(z) \\ -\frac{\mu}{\sqrt{2}}b(z) & -\frac{\lambda}{2}d(z) & 1-\frac{\lambda}{2}c(z) & -\frac{\lambda}{2}d(z) \\ -\frac{\mu}{\sqrt{2}}b(z) & -\frac{\lambda}{2}d(z) & -\frac{\lambda}{2}d(z) & 1-\frac{\lambda}{2}c(z) \end{vmatrix},$$

where I is the identity operator in L_4 . Calculating this determinant, we obtain representation (5.2).

The relation between the eigenvalues of the self-adjoint operator $h_{\mu\lambda}$ and the zeros of the Fredholm determinant $\Delta(\mu, \lambda; z)$ is established by the following lemma (see [14]).

Lemma 2. For any $\mu, \lambda \ge 0$, a number $z \in \mathbb{C} \setminus [0, 6]$ is an *m*-fold eigenvalue of the operator $h_{\mu\lambda}$ if and only if it is an *m*-fold zero of the function $\Delta(\mu, \lambda; z) = 0$.

Proposition 1. 1. The functions a, b, c, and d are analytic in $\mathbb{C} \setminus [0, 6]$, positive, and monotonically increasing in the interval $(-\infty, 0)$, and the inequality c(z) > d(z) holds for $z \in (-\infty, 0)$.

2. The asymptotic expansions

$$a(z) = a(0) - \frac{\sqrt{2}}{4\pi}\sqrt{-z} + O(-z), \quad z \to 0-,$$

$$b(z) = b(0) - \frac{1}{2\pi}\sqrt{-z} + O(-z), \quad z \to 0-,$$

$$c(z) = c(0) - \frac{\sqrt{2}}{2\pi}\sqrt{-z} + O(-z), \quad z \to 0-,$$

$$d(z) = d(0) - \frac{\sqrt{2}}{2\pi}\sqrt{-z} + O(-z), \quad z \to 0-,$$

(6.1)

hold for a, b, c, and d.

Proof. 1. The positivity of the functions a and c defined in (4.1) follows straightforwardly from the nonnegativity of the integrands and from the monotonicity of the Lebesgue integral.

We represent b and d in the forms

$$\begin{split} b(z) &= \frac{\sqrt{2}}{(2\pi)^3} \int_{-\pi}^{\pi} \int_{-\pi}^{\pi} \left[\int_{-\pi}^{\pi} \frac{\cos q^{(1)}}{A - \cos q^{(1)}} dq^{(1)} \right] dq^{(2)} dq^{(3)}, \\ d(z) &= \frac{2}{(2\pi)^3} \int_{-\pi}^{\pi} \left[\int_{-\pi}^{\pi} \int_{-\pi}^{\pi} \frac{\cos q^{(1)} \cos q^{(2)} dq^{(1)} dq^{(2)}}{B - (\cos q^{(1)} + \cos q^{(2)})} \right] dq^{(3)}, \end{split}$$

where $A = 3 - \cos q^{(2)} - \cos q^{(3)} - z > 0$ and $B = 3 - \cos q^{(3)} - z > 0$. Representing the integrals in the square brackets as sums of integrals over the closed intervals $[-\pi, 0]$ and $[0, \pi]$, changing the variables

 $q^{(1)} := q^{(1)} - \pi$ and $q^{(2)} := q^{(2)} - \pi$, and using the identity $\cos(x - \pi) = -\cos x$, we obtain

$$\begin{split} \int_{-\pi}^{\pi} \frac{\cos q^{(1)} \, dq^{(1)}}{A - \cos q^{(1)}} &= \int_{0}^{\pi} \frac{2 \cos^{2} q^{(1)} \, dq^{(1)}}{A^{2} - \cos^{2} q^{(1)}} > 0, \\ \int_{-\pi}^{\pi} \int_{-\pi}^{\pi} \frac{\cos q^{(1)} \cos q^{(2)} \, dq^{(1)} \, dq^{(2)}}{B - (\cos q^{(1)} + \cos q^{(2)})} &= \\ &= \int_{0}^{\pi} \int_{0}^{\pi} \frac{8B \cos^{2} q^{(1)} \cos^{2} q^{(2)} \, dq^{(1)} \, dq^{(2)}}{[B^{2} - (\cos q^{(1)} - \cos q^{(2)})^{2}][B^{2} - (\cos q^{(1)} - \cos q^{(2)})^{2}]} > 0. \end{split}$$

The positivity of b and d follows from the nonnegativity of the integrand and the monotonicity of the Lebesgue integral.

The relation c(z) > d(z) is implied by the Cauchy–Bounjakowsky inequality,

$$\begin{split} d(z) &= \frac{2}{(2\pi)^3} \int_{\mathbb{T}^3} \frac{\cos q^{(1)} \cos q^{(2)} \, dq}{\varepsilon(q) - z} = \frac{2}{(2\pi)^3} \int_{\mathbb{T}^3} \frac{\cos q^{(1)}}{\sqrt{\varepsilon(q) - z}} \frac{\cos q^{(2)}}{\sqrt{\varepsilon(q) - z}} dq < \\ &< \frac{2}{(2\pi)^3} \left(\int_{\mathbb{T}^3} \frac{\cos^2 q^{(1)} \, dq}{\varepsilon(q) - z} \right)^{1/2} \left(\int_{\mathbb{T}^3} \frac{\cos^2 q^{(2)} \, dq}{\varepsilon(q) - z} \right)^{1/2} = c(z). \end{split}$$

The derivatives of the functions a, b, c, and d are positive, and these functions are therefore monotonically increasing in the interval $(-\infty, 0)$.

The proof of assertion 2 is similar to the proof of Lemma 3.5 in [15].

The assertions in Proposition 1 imply the following corollary.

Corollary 1. The functions c - d and c + 2d are positive and monotonically increasing in the interval $(-\infty, 0)$, and the relations (asymptotic expansions)

$$\Delta^{(22)}(\lambda; z) = \Delta^{(22)}(\lambda; 0) + O(-z), \quad z \to 0-,$$
(6.2)

$$\Delta^{(1)}(\mu,\lambda;z) = 1 - \mu a(0) - \frac{\sqrt{2}}{2}\lambda(3-\mu)b(0) + \frac{\sqrt{2}}{4\pi}[\mu + 3\lambda - \mu\lambda]\sqrt{-z} + O(-z), \quad z \to 0-,$$
(6.3)

hold for all $\mu, \lambda \geq 0$.

Proof. The positivity of c and d and the inequality c(z) > d(z) imply the positivity of c - d and c + 2d in the interval $(-\infty, 0)$. Because the derivatives of c - d and c + 2d are positive, these functions are monotonically increasing in $(-\infty, 0)$.

Formulas (5.5) and (6.1) give (6.2), and (5.4) and (6.1) imply

$$\Delta^{(1)}(\mu,\lambda;z) = \left(1-\mu a(0)\right) \left(1-\frac{\lambda}{2} \left(c(0)+2d(0)\right)\right) - \frac{3\mu\lambda}{2} b^2(0) + \frac{\sqrt{2}}{4\pi} \left[(\mu+3\lambda) - \left(3a(0)-3\sqrt{2}b(0)+\frac{1}{2} \left(c(0)+2d(0)\right)\right)\mu\lambda\right]\sqrt{-z} + O(-z), \quad z \to 0-.$$
(6.4)

Expressions (4.1) and (6.1) imply the relations

$$\begin{aligned} a(0) - \frac{\sqrt{2}}{2}b(0) &= \frac{1}{(2\pi)^3} \int_{\mathbb{T}^3} \frac{1 - \cos q^{(i)} \, dq}{\varepsilon(q)} = \\ &= \frac{1}{3} \frac{1}{(2\pi)^3} \int_{\mathbb{T}^3} \frac{\sum_{i=1}^3 (1 - \cos q^{(i)}) \, dq}{\varepsilon(q)} = \frac{1}{3}, \end{aligned}$$
(6.5)
$$c(0) + 2d(0) &= \frac{2}{(2\pi)^3} \int_{\mathbb{T}^3} \frac{\cos^2 q^{(1)} + 2\cos q^{(1)} \cos q^{(2)} \, dq}{\varepsilon(q)} = \\ &= \frac{2}{(2\pi)^3} \int_{\mathbb{T}^3} \frac{\cos^2 q^{(1)} + \cos q^{(1)} \cos q^{(2)} + \cos q^{(1)} \cos q^{(3)} \, dq}{\varepsilon(q)} = \\ &= -\frac{2}{(2\pi)^3} \int_{\mathbb{T}^3} \frac{\cos q^{(1)} (3 - \cos q^{(1)} - \cos q^{(2)} - \cos q^{(3)} - 3) \, dq}{\varepsilon(q)} = \\ &= -\frac{2}{(2\pi)^3} \int_{\mathbb{T}^3} \cos q^{(1)} \, dq + 3\frac{2}{(2\pi)^3} \int_{\mathbb{T}^3} \frac{\cos q^{(1)} \, dq}{\varepsilon(q)} = 3\sqrt{2} \, b(0). \end{aligned}$$
(6.6)

Using (6.4)-(6.6), we derive (6.3).

We note that by Lemma 2 and representation (5.2), investigating the zeros of $\Delta(\mu, \lambda; \cdot)$ reduces to investigating the zeros of $\Delta^{(1)}(\mu, \lambda; \cdot)$ and $\Delta^{(22)}(\lambda; \cdot)$.

Proposition 2. 1. Let $0 < \lambda < \lambda_2^0$. Then $\Delta^{(22)}(\lambda; \cdot)$ has no zeros in $(-\infty, 0]$. 2. Let $\lambda = \lambda_2^0$. Then z = 0 is the only zero of $\Delta^{(22)}(\lambda; \cdot)$ in $(-\infty, 0]$. 3. Let $\lambda > \lambda_2^0$. Then $\Delta^{(22)}(\lambda; \cdot)$ has a single zero $z^{(2)}(\lambda) < 0$.

Proof. 1. By Proposition 1, the function $\Delta^{(22)}(\lambda; \cdot)$ with a fixed $\lambda > 0$ is continuous and decreases monotonically on the interval $(-\infty, 0]$. Moreover, the relations

$$\lim_{z \to -\infty} \Delta^{(22)}(\lambda; z) = 1, \qquad \lim_{z \to 0^-} \Delta^{(22)}(\lambda; z) = \Delta^{(22)}(\lambda; 0) = 1 - \frac{\lambda}{\lambda_2^0}$$

hold. Consequently, $\Delta^{(22)}(\lambda; 0) > 0$ for $0 < \lambda < \lambda_2^0$. It follows that

$$\Delta^{(22)}(\lambda;z) \ge \Delta^{(22)}(\lambda;0) > 0$$

for all $z \leq 0$.

2. Let $\lambda = \lambda_2^0$. Then the relations

$$\lim_{z \to 0^{-}} \Delta^{(22)}(\lambda; z) = \Delta^{(22)}(\lambda; 0) = 1 - \frac{\lambda}{\lambda_{2}^{0}} = 0,$$
$$\Delta^{(22)}(\lambda; z) > \Delta^{(22)}(\lambda; 0) = 0$$

hold for all z < 0.

3. Let $\lambda > \lambda_2^0$. The function $\Delta^{(22)}(\lambda; \cdot)$ is continuous and monotonically decreasing on the interval $(-\infty, 0]$, and the relations

$$\lim_{z \to 0^{-}} \Delta^{(22)}(\lambda; z) = \Delta^{(22)}(\lambda; 0) = 1 - \frac{\lambda}{\lambda_2^0} < 0$$

hold. Therefore, there is a single number $z^{(2)}(\lambda) < 0$ such that

$$\Delta^{(22)}(\lambda; z^{(2)}(\lambda)) = 0.$$

Proposition 3. 1. If $0 < \mu < \mu^0$ or $0 < \lambda < \lambda_1^0$, then $\Delta(\mu, 0; \cdot)$ or $\Delta^{(21)}(\lambda; \cdot)$ respectively has no zeros on $(-\infty, 0]$.

2. If $\mu = \mu^0$ or $\lambda = \lambda_1^0$, then z = 0 is the only zero respectively of $\Delta(\mu, 0; \cdot)$ or $\Delta^{(21)}(\lambda; \cdot)$ on $(-\infty, 0]$. 3. If $\mu > \mu^0$ or $\lambda > \lambda_1^0$, then $\Delta(\mu, 0; \cdot)$ or $\Delta^{(21)}(\lambda; \cdot)$ respectively has the only zero $\zeta_1(\mu) < 0$ or $\zeta_2(\lambda) < 0$, i.e.,

 $\Delta(\mu, 0; \zeta_1(\mu)) = 0 \quad \text{or} \quad \Delta^{(21)}(\lambda; \zeta_2(\lambda)) = 0.$ (6.7)

The proof of Proposition 3 is similar to that of Proposition 2.

Lemma 3. The operator $h_{\mu\lambda}$ has at most four eigenvalues (counting multiplicities) to the left of the point z = 0.

Proof. Let $z_0 \in (-\infty, 0)$. The range of the operator $G_{\mu\lambda}(z_0)$ is the subspace L_4 , and its dimension does not exceed four. Therefore, $G_{\mu\lambda}(z_0)$ has at most four eigenvalues (counting multiplicities) in the interval $(1, +\infty)$. By the Birman—Schwinger principle, the number of eigenvalues of $h_{\mu\lambda}$ to the left of the point z < 0 coincides with the number of eigenvalues of $G_{\mu\lambda}(z)$ to the right of the point 1 (see [16], [17]).

Corollary 2. For all $\mu, \lambda \ge 0$, the function $\Delta^{(1)}(\mu, \lambda; \cdot)$ has at most two zeros in the interval $(-\infty, 0]$.

Proof. It follows from the assertions in Lemmas 2 and 3 that for any fixed $\mu, \lambda \ge 0$, the number of zeros of the function $\Delta(\mu, \lambda; \cdot)$ on the interval $(-\infty, 0]$ does not exceed four, and relation (5.5) and Proposition 2 imply that $\Delta^{(22)}(\lambda; \cdot)$ can have a single zero on $(-\infty, 0]$. It follows from (5.2), (5.4), and (5.5) that $\Delta^{(1)}(\mu, \lambda; \cdot)$ can have two zeros on the interval $(-\infty, 0]$.

Proposition 4. 1. Let $(\mu, \lambda) \in G_0$. Then the function $\Delta^{(1)}(\mu, \lambda; \cdot)$ has no zeros on the interval $(-\infty, 0]$.

2. Let $(\mu, \lambda) \in G_{11}^{(0)}$. Then z = 0 is the only zero of $\Delta^{(1)}(\mu, \lambda; \cdot)$ on $(-\infty, 0]$.

3. Let $(\mu, \lambda) \in G_1$. Then the function $\Delta^{(1)}(\mu, \lambda; \cdot)$ has a single zero $z^{(1)}(\mu, \lambda) < 0$. In this case, we have $z^{(1)}(\mu, \lambda) < \zeta_{\min}(\mu, \lambda)$.

4. Let $(\mu, \lambda) \in G_{12}^{(0)}$. Then $\Delta^{(1)}(\mu, \lambda; \cdot)$ has only two zeros z = 0 and $z = z^{(1)}(\mu, \lambda) < 0$.

5. Let $(\mu, \lambda) \in G_2$. Then $\Delta^{(1)}(\mu, \lambda; \cdot)$ has only two zeros $z^{(1)}(\mu, \lambda) < 0$ and $z^{(4)}(\mu, \lambda) < 0$. In this case, the inequalities

$$z^{(1)}(\mu,\lambda) < \zeta_{min}(\mu,\lambda) \le \zeta_{max}(\mu,\lambda) < z^{(4)}(\mu,\lambda)$$

hold.

Proof. 1. Let $z \leq 0$. The functions $\Delta(\mu, 0; \cdot)$ and $\Delta^{(21)}(\lambda; \cdot)$ decrease monotonically on $(-\infty, 0]$, and the inequalities

$$\Delta(\mu,0;z) \ge \Delta(\mu,0;0) > 0, \qquad \Delta^{(21)}(\lambda;z) \ge \Delta^{(21)}(\lambda;0) > 0, \qquad \text{and} \qquad b(z) \le b(0)$$

hold by Proposition 3. Hence, in view of (5.4) and also by condition 1 in the proposition, we obtain

$$\Delta^{(1)}(\mu,\lambda;z) \ge \Delta(\mu,0;0)\Delta^{(21)}(\lambda;0) - \frac{3\mu\lambda}{2}b^2(0) = \Delta^{(1)}(\mu,\lambda;0) > 0$$

Consequently, $\Delta^{(1)}(\mu, \lambda; \cdot)$ has no zeros on the interval $(-\infty, 0]$.

2. It follows from (6.3) and by condition 2 that the equality

$$\lim_{z \to 0^{-}} \Delta^{(1)}(\mu, \lambda; z) = \Delta^{(1)}(\mu, \lambda; 0) = 0$$

holds. By the proof of assertion 1, we have

$$\Delta^{(1)}(\mu,\lambda;z) > \Delta^{(1)}(\mu,\lambda;0) = 0 \quad \text{for } z \in (-\infty,0).$$

Therefore, $\Delta^{(1)}(\mu, \lambda; \cdot)$ has no zeros on $(-\infty, 0)$.

3. Let $z \leq 0$. The functions $\Delta(\mu, 0; \cdot)$ and $\Delta^{(21)}(\lambda; \cdot)$ decrease monotonically on $(-\infty, 0]$, and therefore

$$\Delta(\mu,0;z) > \Delta(\mu,0;\zeta_1(\mu)) = 0, \qquad \Delta^{(21)}(\lambda;z) > \Delta^{(21)}(\lambda;\zeta_2(\lambda)) = 0$$

for all $z < \zeta_{\min}(\mu, \lambda)$. Hence, by Proposition 1, it follows that the inequality

$$\frac{\partial \Delta^{(1)}(\mu,\lambda;z)}{\partial z} = -\mu a'(z)\Delta^{(21)}(\lambda;z) - \frac{\lambda}{2} \big(c'(z) + 2d'(z)\big)\Delta(\mu,0;z) - 3\mu\lambda b(z)b'(z) < 0$$

holds for all $z < \zeta_{\min}(\mu, \lambda)$. This means that $\Delta^{(1)}(\mu, \lambda; \cdot)$ decreases monotonically on $(-\infty, \zeta_{\min}(\mu, \lambda))$. Formulas (5.3), (5.5), and (6.7) imply the relations

$$\Delta^{(1)}(\mu,\lambda;\zeta_{\min}(\mu,\lambda)) = -\frac{3\mu\lambda}{2}b^{2}(\zeta_{\min}(\mu,\lambda)) < 0,$$

$$\Delta^{(1)}(\mu,\lambda;\zeta_{\max}(\mu,\lambda)) = -\frac{3\mu\lambda}{2}b^{2}(\zeta_{\max}(\mu,\lambda)) < 0.$$
(6.8)

Relations (5.3)–(5.5) and (4.1) imply the equality

$$\lim_{\to -\infty} \Delta^{(1)}(\mu, \lambda; z) = 1.$$

Therefore, there is a unique number $z^{(1)}(\mu, \lambda) < \zeta_{\min}(\mu, \lambda) < 0$ such that

z

$$\Delta^{(1)}(\mu,\lambda;z^{(1)}(\mu,\lambda)) = 0.$$

To prove assertion 3, we show that the function $\Delta^{(1)}(\mu, \lambda; \cdot)$ has no zeros on the closed interval $[\zeta_{\min}(\mu, \lambda), 0]$, namely,

$$\Delta^{(1)}(\mu,\lambda;z) < 0 \quad \text{for } z \in [\zeta_{\min}(\mu,\lambda),0].$$
(6.9)

We assume the contrary, i.e., let the inequality $\Delta^{(1)}(\mu, \lambda; \zeta) \geq 0$ hold for some $\zeta \in [\zeta_{\min}(\mu, \lambda), 0]$. Then, by the analyticity of the function $\Delta^{(1)}(\mu, \lambda; \cdot)$ and in view of inequality (6.8), the function $\Delta^{(1)}(\mu, \lambda; \cdot)$ must have at least two zeros (counting multiplicities) on the closed interval $[\zeta_{\min}(\mu, \lambda), 0]$, and the function $\Delta^{(1)}(\mu, \lambda; \cdot)$ must have at least three zeros on the interval $(-\infty, 0]$ by (5.4), which contradicts the assertion in Corollary 2.

By Corollary 2, it follows from inequality (6.9) that $\Delta^{(1)}(\mu, \lambda; \cdot)$ has no zeros on $[\zeta_{\min}(\mu, \lambda), 0]$, which proves assertion 3 in the proposition.

4. By analogy with the proof of assertion 2 and by condition 4 in the proposition, we have

$$\lim_{z \to 0^{-}} \Delta^{(1)}(\mu, \lambda; z) = \Delta^{(1)}(\mu, \lambda; 0) = 0.$$

The function $\Delta^{(1)}(\mu, \lambda; \cdot)$ has the only zero $z^{(1)}(\mu, \lambda) < \zeta_{\min}(\mu, \lambda)$ on $(-\infty, 0)$.

5. As already proved above, the function $\Delta^{(1)}(\mu, \lambda; \cdot)$ has a single zero on the interval $(-\infty, \zeta_{\min}(\mu, \lambda))$ (see the proof of assertion 3). By the condition in assertion 5, we have

$$\lim_{z \to 0^{-}} \Delta^{(1)}(\mu, \lambda; z) > 0.$$

Hence, in view of (6.7), arguing as above, we conclude that the function $\Delta^{(1)}(\mu, \lambda; \cdot)$ has the only zero $z^{(4)}(\mu, \lambda)$ on the interval $(\zeta_{\max}(\mu, \lambda), 0]$. (It would contradict Corollary 2 if it had more than one zero.) Therefore, $z^{(1)}(\mu, \lambda)$ and $z^{(4)}(\mu, \lambda)$ are zeros of $\Delta^{(1)}(\mu, \lambda; \cdot)$ on $(-\infty, 0]$, which proves assertion 5.

The next lemma is important for proving the existence of virtual levels for the operator $h_{\mu\lambda}$.

Lemma 4. The eigenfunctions f_1 , f_2 , f_3 , and f_4 of the operator $h_{\mu\lambda}$ that correspond to the eigenvalues $z^{(1)}$, $z^{(2)}$, $z^{(3)}$, and $z^{(4)}$ ($z^{(2)} = z^{(3)}$) have the forms

$$f_1(p) = \frac{\left(\sqrt{\mu}\,\alpha_0 + \sqrt{\lambda/2}\,k(z^{(1)})\sum_{i=1}^3 \alpha_i(p)\right)C}{\varepsilon(p) - z^{(1)}},\tag{6.10}$$

$$f_2(p) = \frac{(\alpha_1(p) - \alpha_2(p))C}{\varepsilon(p) - z^{(2)}}, \qquad f_3(p) = \frac{(\alpha_2(p) - \alpha_3(p))C}{\varepsilon(p) - z^{(2)}}, \tag{6.11}$$

$$f_4(p) = \frac{\left(\sqrt{\mu}\,\alpha_0 + \sqrt{\lambda/2}\,k(z^{(4)})\sum_{i=1}^3 \alpha_i(p)\right)C}{\varepsilon(p) - z^{(4)}},\tag{6.12}$$

where $C = \text{const} \neq 0$ and $k(z) = \Delta(\mu, 0; z) / (3\sqrt{\mu\lambda/2} b(z))$.

Proof. By the Birman–Schwinger principle, the operator $h_{\mu\lambda}$, $\mu, \lambda \ge 0$, has an eigenvalue if and only if the homogeneous equation

$$G_{\mu\lambda}(z)\psi = \psi,$$
 i.e., $(I - G_{\mu\lambda}(z))|_{L_4}\psi = 0,$ $\psi = (\psi_0, \psi_1, \psi_2, \psi_3) \in \mathbb{C}^4,$ (6.13)

has a nonzero solution, where $\psi_i = (\psi, \alpha_i)$, i = 0, 1, 2, 3. This equation is equivalent to the system of homogeneous linear equations

$$\Delta(\mu, 0; z)\psi_0 - \sqrt{\frac{\mu\lambda}{2}}b(z)\psi_1 - \sqrt{\frac{\mu\lambda}{2}}b(z)\psi_2 - \sqrt{\frac{\mu\lambda}{2}}b(z)\psi_3 = 0, -\sqrt{\frac{\mu\lambda}{2}}b(z)\psi_0 + \left(1 - \frac{\lambda}{2}c(z)\right)\psi_1 - \frac{\lambda}{2}d(z)\psi_2 - \frac{\lambda}{2}d(z)\psi_3 = 0, -\sqrt{\frac{\mu\lambda}{2}}b(z)\psi_0 - \frac{\lambda}{2}d(z)\psi_1 + \left(1 - \frac{\lambda}{2}c(z)\right)\psi_2 - \frac{\lambda}{2}d(z)\psi_3 = 0, -\sqrt{\frac{\mu\lambda}{2}}b(z)\psi_0 - \frac{\lambda}{2}d(z)\psi_1 - \frac{\lambda}{2}d(z)\psi_2 + \left(1 - \frac{\lambda}{2}c(z)\right)\psi_3 = 0.$$
(6.14)

Consequently, system (6.14) has a nonzero solution for $\mu, \lambda \ge 0$ if and only if the system of equations

$$\Delta(\mu, 0; z)\psi_0 - \sqrt{\frac{\mu\lambda}{2}} b(z)\psi_1 - \sqrt{\frac{\mu\lambda}{2}} b(z)\psi_2 - \sqrt{\frac{\mu\lambda}{2}} b(z)\psi_3 = 0,$$

$$-\sqrt{\frac{\mu\lambda}{2}} b(z)\psi_0 + \left(1 - \frac{\lambda}{2}c(z)\right)\psi_1 - \frac{\lambda}{2}d(z)\psi_2 - \frac{\lambda}{2}d(z)\psi_3 = 0,$$

$$\Delta^{(22)}(\lambda; z)\psi_1 - \Delta^{(22)}(\lambda; z)\psi_2 = 0, \qquad \Delta^{(22)}(\lambda; z)\psi_2 - \Delta^{(22)}(\lambda; z)\psi_3 = 0$$

(6.15)

has a nonzero solution.

Let $\lambda \geq \lambda_2^0$. Then (see assertions 2 and 3 in Proposition 2) the function $\Delta^{(22)}(\lambda; \cdot)$ has the only zero $z = z^{(2)}(\lambda)$ on the interval $(-\infty, 0]$, i.e., $\Delta^{(22)}(\lambda; z^{(2)}(\lambda)) = 0$, and we have $\Delta^{(1)}(\mu, \lambda; z^{(2)}(\lambda)) \neq 0$ by Proposition 4. Therefore, (6.15) is equivalent to the system of equations

$$\Delta(\mu, 0; z^{(2)}(\lambda))\psi_0 - \sqrt{\frac{\mu\lambda}{2}}b(z^{(2)}(\lambda))\psi_1 - \sqrt{\frac{\mu\lambda}{2}}b(z^{(2)}(\lambda))\psi_2 - \sqrt{\frac{\mu\lambda}{2}}b(z^{(2)}(\lambda))\psi_3 = 0,$$

$$-\sqrt{\frac{\mu\lambda}{2}}b(z^{(2)}(\lambda))\psi_0 - \frac{\lambda}{2}d(z^{(2)}(\lambda))\psi_1 - \frac{\lambda}{2}d(z^{(2)}(\lambda))\psi_2 - \frac{\lambda}{2}d(z^{(2)}(\lambda))\psi_3 = 0.$$
(6.16)

Because $d(z^{(2)}(\lambda)) > 0$, system (6.16) is equivalent to the equation

$$\left(\Delta\left(\mu,0;z^{(2)}(\lambda)\right) + \mu \frac{b^2\left(z^{(2)}(\lambda)\right)}{d\left(z^{(2)}(\lambda)\right)}\right)\psi_0 = 0$$

for all $\mu, \lambda \geq 0$.

Taking

$$\Delta(\mu, 0; z^{(2)}(\lambda)) + \mu \frac{b^2(z^{(2)}(\lambda))}{d(z^{(2)}(\lambda))} \neq 0$$

into account (see assertion 1 in Proposition 1 and Proposition 4), we conclude that $\psi_0 = 0$ for

$$\mu \neq \frac{d(z^{(2)}(\lambda))}{a(z^{(2)}(\lambda))d(z^{(2)}(\lambda)) - b^2(z^{(2)}(\lambda))}$$

Therefore, the first equation in (6.14) gives

$$-\sqrt{\frac{\mu\lambda}{2}}b(z^{(2)}(\lambda))(\psi_1+\psi_2+\psi_3)=0.$$

Assertion 1 in Proposition 1 implies that $b(z^{(2)}(\lambda)) > 0$. Therefore,

$$\psi_1 + \psi_2 + \psi_3 = 0$$
, i.e., $\psi_1 = -(\psi_2 + \psi_3)$ for all $\psi_2, \psi_3 \in \mathbb{C}$. (6.17)

By (4.2) and (6.17) and with the notation $\psi_i = (\psi, \alpha_i), i = 0, 1, 2, 3$, the general solution of Eq. (6.13) becomes

$$\psi(p) = \sum_{i=1}^{3} \psi_i \alpha_i(p) = (\alpha_2(p) - \alpha_1(p))\psi_2 + (\alpha_3(p) - \alpha_1(p))\psi_3.$$
(6.18)

Let $\psi_3 = 0$. Then (6.17) gives $\psi_1 = -\psi_2$, and (6.18) implies that

 $\psi_2(p) = \left(\alpha_1(p) - \alpha_2(p)\right)C, \qquad C = \text{const} \neq 0.$ (6.19)

Let $\psi_1 = 0$. Arguing similarly, we obtain

$$\psi_3(p) = \left(\alpha_2(p) - \alpha_3(p)\right)C, \qquad C = \text{const} \neq 0.$$
(6.20)

If $0 < \lambda < \lambda_2^0$ and $(\mu, \lambda) \in G_{11}^{(0)} \cup G_1$ or $(\mu, \lambda) \in G_{12}^{(0)} \cup G_2$, then (see assertions 2–5 in Proposition 4) the function $\Delta^{(1)}(\mu, \lambda; \cdot)$ has the respective zeros $z = z^{(1)}(\mu, \lambda) \leq 0$ or $z = z^{(1)}(\mu, \lambda) < 0$ and $z = z^{(4)}(\mu, \lambda) \leq 0$ on the interval $(-\infty, 0]$, i.e. $\Delta^{(1)}(\mu, \lambda; z^{(1)}(\mu, \lambda)) = \Delta^{(1)}(\mu, \lambda; z^{(4)}(\mu, \lambda)) = 0$. By assertion 1 in Proposition 2, we have $\Delta^{(22)}(\lambda; z^{(1)}(\mu, \lambda)) > 0$ or $\Delta^{(22)}(\lambda; z^{(4)}(\mu, \lambda)) > 0$. It follows from (6.15) that

$$\psi_1 = \psi_2 = \psi_3 = \frac{\Delta(\mu, 0; z)}{3\sqrt{\mu\lambda/2}b(z)}\psi_0$$

Arguing as in the case $\lambda \geq \lambda_2^0$, we verify that the eigenfunctions of $G_{\mu\lambda}(z)$ corresponding to the eigenvalue 1 have the forms

$$\psi_1(p) = \left(\alpha_0 + k(z^{(1)}) \sum_{i=1}^3 \alpha_i(p)\right) C, \qquad C = \text{const} \neq 0, \tag{6.21}$$

for $z = z^{(1)}(\mu, \lambda)$ and

$$\psi_4(p) = \left(\alpha_0 + k(z^{(4)}) \sum_{i=1}^3 \alpha_i(p)\right) C, \qquad C = \text{const} \neq 0, \qquad k(z) = \frac{\Delta(\mu, 0; z)}{3\sqrt{\mu\lambda/2b(z)}}, \tag{6.22}$$

for $z = z^{(4)}(\mu, \lambda)$.

According to Remark 1, the eigenfunction of $h_{\mu\lambda}$ corresponding to an eigenvalue $z \in \mathbb{C} \setminus [0, 6]$ has the form

$$f(p) = \frac{(v_{\mu\lambda}^{1/2}\psi)(p)}{\varepsilon(p) - z}, \quad p \in \mathbb{T}^3.$$

Hence, by (6.21) and the relations

$$(\alpha_0, 1) = \frac{1}{\alpha_0}, \qquad (\alpha_i, 1) = 0, \qquad (\alpha_i, \alpha_j) = \begin{cases} 1 & \text{for } i = j, \\ 0 & \text{for } i \neq j, \end{cases}$$

we obtain (6.10).

Relations (6.11) and (6.12) are verified similarly.

Remark 8. It follows from (6.5), (6.6), and (6.10)–(6.12) for z = 0 that

$$f_1(0) = f_4(0) = \frac{3-\mu}{3\sqrt{\mu} b(0)\varepsilon(0)} C \neq 0, \quad C \neq 0,$$

$$f_2(0) = f_3(0) = 0.$$
 (6.23)

Proof of the theorem. A1. Let $z \leq 0$. Then by condition A1 in the theorem and according to assertions 1 in Propositions 2 and 4, the inequalities $\Delta^{(1)}(\mu, \lambda; z) > 0$ and $\Delta^{(22)}(\lambda; z) > 0$ hold. Hence, in view of (5.2), we obtain $\Delta(\mu, \lambda; z) > 0$. By Lemma 2, the operator $h_{\mu\lambda}$ has no eigenvalues in the interval $(-\infty, 0)$, and the point z = 0 is an RPCS of the operator $h_{\mu\lambda}$.

A2. Let z = 0. It follows from assertion 2 in Proposition 4 that $\Delta^{(1)}(\mu, \lambda; 0) = 0$, and by (6.23), solution (6.10) of the equation $h_{\mu\lambda}f = 0$ satisfies the condition

$$f_1(0) = \frac{3-\mu}{3\sqrt{\mu} b(0)\varepsilon(0)} C \neq 0, \quad C \neq 0.$$

Therefore, $f_1 \in L^1_e(\mathbb{T}^3) \setminus L^2_e(\mathbb{T}^3)$. From assertion 1 in Proposition 2, we conclude that $\Delta^{(22)}(\lambda; z) > 0$, and by Lemma 2, it follows from (5.2) that the operator $h_{\mu\lambda}$ has no eigenvalues in the interval $(-\infty, 0)$.

A3. Let $z \leq 0$. According to assertion 3 in Proposition 4, there is a unique number $z^{(1)}(\mu, \lambda) < \zeta_{\min}(\mu, \lambda) < 0$ such that $\Delta^{(1)}(\mu, \lambda; z^{(1)}(\mu, \lambda)) = 0$, and assertion 1 in Proposition 2 implies that $\Delta^{(22)}(\lambda; z) > 0$. By Lemma 2, it follows from representation (5.2) that the operator $h_{\mu\lambda}$ has the only eigenvalue $z^{(1)}(\mu, \lambda) < \zeta_{\min}(\mu, \lambda) < 0$.

The other assertions in the theorem are proved similarly to the proof of A1–A3.

Acknowledgments. The authors express their deep gratitude to R. A. Minlos and E. E. Muminov for the attention and to the reviewer for the valuable critical remarks.

This work was supported by the Academy of Sciences of the Republic of Uzbekistan (Grant No. FA-F1-F045).

REFERENCES

- 1. V. Efimov, Sov. J. Nucl. Phys., 12, 589 (1971).
- 2. V. Efimov, Phys. Lett. B, 33, 563-564 (1970).
- 3. D. R. Yafaev, Math. USSR-Sb., 23, 535–559 (1974).
- 4. H. Tamura, Nagoya Math. J., **130**, 55–83 (1993).
- 5. S. A. Vugal'ter and G. M. Zhislin, Comm. Math. Phys., 87, 89–103 (1982).
- 6. S. N. Lakaev, Funct. Anal. Appl., 27, No. 3, 166–175 (1993).
- 7. S. Albeverio, S. N. Lakaev, and Z. I. Muminov, Ann. Henri Poincaré, 5, 743–772 (2004).
- 8. S. Albeverio, S. N. Lakaev, K. A. Makarov, and Z. I. Muminov, Comm. Math. Phys., 262, 91–115 (2006).
- 9. S. N. Lakaev and Sh. M. Tilavova, Theor. Math. Phys., 101, 1320–1331 (1994).
- 10. E. L. Lakshtanov and R. A. Minlos, Funct. Anal. Appl., 39, No. 1, 31-45 (2005).
- 11. R. G. Newton, J. Math. Phys., 18, 1348-1357 (1977).
- 12. B. Simon, J. Funct. Anal., 40, 66-83 (1981).
- M. Reed and B. Simon, Methods of Modern Mathematical Physics, Vol. 4, Analysis of Operators, Acad. Press, New York (1978).
- S. Albeverio, F. Gesztesy, R. Khëèg-Kron, and H. Holden, Solvable Models in Quantum Mechanics, Springer, New York (1988).
- 15. S. Albeverio, S. N. Lakaev, and T. H. Rasulov, J. Statist. Phys., 127, 191–220 (2007).
- 16. M. S. Birman, Vestnik Leningrad. Univ., 16, No. 13, 163–166 (1961).
- 17. J. Schwinger, Proc. Nat. Acad. Sci. USA, 47, 122-129 (1961).